THE FI NAL | NVESTI GATI ON ON TORUS EXPERI MENT
N AQUINO S SET UP

In the follow ng investigation, we are going to exam ne the
equati ons of System G according to Professor Aquino’ s clains.

THE EQUATI ONS FOR THE TORUS EXPERI MENT ARE THE FOLLOW
Vel ocity of EM Waves in |Iron Powder
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f =Working Frequency of the System
i, = Magnetic Permeability of Iron Powder

o;, = Conductivity of Iron Powder

Radi ati on Resistance of System G Iron Torus is not used as we can see )
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Az = Length of the Antenna

The other Parameters are Known fromthe Velocity in Iron Powder.

ELF Energy Absorbed by an atom and cal cul ati on of the Refractive Index in
Torus Shield Iron
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n, - ,Where v, = drt
Vs MO
c = speed of light
n = efficiency of absorbption
S, S, arethe Surfaces of the Iron Atom and the Torus Surface
V,, i, o, are for the Shield lron Torus
.. = Current through Antenna
U = Absorbed Energy by An Iron atom
n. = refraction index in Shield Iron Torus

R. = Radiation Resistance of the Antenna

torus



Thi ckness cal cul ati on for Total Energy Absorbtion

o =% , for 56, we have total absorption by the Shield Iron Torus
ZAWINN

Energy and Power Density Required for Gravity Shielding of an Iron Atomin
Tor us
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Sravity Shielding Power Density through an Iron Atom for Gravity Shielding

n, = refraction index in Iron Torus

Sravity Shielding Energy required for Gravity Shielding of an Iron Atom

Radi at ed Power Required for the Gravity Shielding of the Torus. Cal cul ation
can be provided by two i ndependent equati ons.
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Gravity Shielding
Torus Gravity Shielding - I:)Gravity Shielding . StOVUS or Torus Gravity Shielding - 2 ' Rr
l, =The Current Peak of Sinus Current for Gravity Shielding

R, = Radiation Resistance of the Antenna

Cal cul ation of the mass of the Shield Torus Iron

— 2,2 _ 2,2

Vtotal =27°r ext I:atorus and empty — 27°r inner Rtorus
Vshield Iron — Vtotal _Vempty

shield Iron — Hiron ’ shield Iron
Now we will calculate the results for the given val ue of paraneters:
ty =754, = p; =75-4-7-10"H /m
o, =10 S/m
f =60 Hz

Az=12 m



n
S, =2,46-107°m?
S, =0,374m’

|

torus

c=3.100 1
S

., = 25000, = u, =25000-4-7-10"H/m
o, =103-10" S/m

Mon aom = 55,85+(1,66-107°"Kgr) =9,27-10 *° Kgr
d,,, =7840 "'
m
r.=0,03175 mand R, =0,32 m
rinner = 0’031 m
—5 443
shield Iron =25-107m
=1,96 Kgr

shield lron

Results of the equations from above val ues of paraneters

V,, =2,82-10°m/sec

R =115 mOHM or R, =0,115 OHM

Vi
A:Tp:47 m

%z%:% Marconi Antenna in the Iron Powder propagating medium

v, =48-10°m/s
n =622-10"

0=0134-10°m and 556=0,67-10°m
or 56 =Thickness, . =0,67 mm

torus



=147-10*° Joules for an Atom for n_=622-10’

Gravity Shielding

and p, =250004, for Torus

Watt
Gravity Shielding = 358’ 53 m2 for an Atom
Watt )
Torus Gravity Shielding = 358,53 m2 -0,374m ;then
=134,09 Watt

Torus Gravity Shielding

U

2
Atomic Absorbtion
n, j -1

mg(Torus Shield) — mi(Torus Shield) ~— 2mi (Torus Shield) 1+ 2
mi(Iron Atom)C

M, ey =1 96KgT —2-1,96Kgr {1+2,21:207 - 1, -1

The Weight of Torus is nulled for:
|, =48,76 A or | __ =34,58A

2
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> ‘R ,where R, =0,1150HM , then

P =

r

P =136,70 Watt

That nmeans our cal cul ati ons are correct, because before we
cal cul ated that:

_ 358,53/

Torus Gravity Shielding m2 .

=134,09 Watt

0,374m?,then

Torus Gravity Shielding

W have a difference of 2,61 Watt, because the current was

cal cul ated by SysG xls Gaph.So this difference is an expected
result. More accurate the current, then closer to the exact power
of 134,09 Watt.

So for IO - 144,95A
m = —33,04Kqgr

g(Torus) —
That neans:

|-33,04Kgr| +[1,96Kgr| = 35Kgr



According to Aquino the System G has an Initial Wight of 35
Kgr.We found that for 144,95A the Systenis G weight is nulled. It
Is clearly that all the job is done by the torus wei ght of

1, 96Kgr .

When the torus wei ght becones negative enough, it nullifies the
added wei ght of the construction which is 33,04 Kgr (weight of the
| ron powder, cables, e.t.c).

So the Antigravity effect (Negative Mass of Torus ) is responsible
for the above results of the nulling of the whole weight of the
System G

Then the wei ght of 33,04Kgr we can consider it as a Wi ght
Load. Then the equation nmay be re-witten as foll ows:

My rors) + Miosg = Mions +1 96Kr —2-1,96Kgr {\/1+ 2,21-107 - 1°, —1}

The Equation (J. X Equation)of Aquino’'s System Gis the Follow ng:

=3oKgr-2-1 96Kgr{\/1+ 2,21:107 - 1%, _1}

mg (System G)

Then again for |, =144,95A tnhe Gravitational Mass of the System
Gis nulled.

The required Power to achieve the above ( Null the weight of
System G and not to Gravity Shield it) result is:
I%

P =
2

‘R ,where R, =0,1150HM,then

r

P =1208,10 Watt

Now to null a System Gwth weight of 100 Kgr( wth added
| oad=65Kgr ) in 60 Hz with sanme Torus Wi ght and Surface, the
required current and power are:

|, =237,38 A and P. =3240 Watt



CALCULATI ON FOR THE USED TRANSFORMER

Prof essor Aqui no, used the follow ng true paraneters:
n, 12 Primary turns

n, ~ 2 Secondary turns

1>-Z,=1,-Z, = 11500VA=1,-Z,

and izﬁ :@
n2 U2

= U, =36,6V,

2
and 11500VA = UZ—2 = Z, =0,1150HM

2
That neans the Primary to Secondary turns of the Transforner and

for 11500VA, gives the right inpedance ( Matching ) for the
secondary, to have the maxi num delivering power to the Load ( ELF
Torus Antenna ).

By the basic Electronics, we know the maxi num Power, where can be
delivered by a Transforner to a Load, is when we have natchi ng
condi ti ons, between the Secondary and the Load. That neans:

Z.. =R, =Z,=R =0,1150HM or 115mOHM

Then the Maxi mum Power which can be delivered by the Transforner
to the Antenna is:

Yo ) _ 305 15844 A, or I 158,442 = 223,4A
Z,+R, 0,231 :

Maxi mum Power, where can be delivered to the Antenna:

P =1° -R =158,44%.0,115 = 2886 Watt

then P. = 2886 Watt___
This power can null a System Gwith total weight of 88, 14Kgr.

As we have seen, the required power to null the weight of 35Kgr of
the System G is 1208, 10 Watt. This neans, we have a technical
subj ect here.

- 1208,10

100 =41,86% used Power
2886



As we know in El ectronics, when we want to nake a Power Supply, we
choose a Transfornmer with the Double Delivering Power.

Exanpl e: For a Load of 100W we choose a Transforner which can
deliver in matching Conditions 200Watt. Thi s happens, for nany
reasons. Sone are: Not overload the Transfornmer or Overheating it in
hi gh Currents and because of the divergence ( +-5%) of the 220V
of the Network.Mre because of |oss of Power in the core and to
the non Main Load conponents.

So by this point of view, Professor nmade a technical option, which
points in very small percent, that the experinent really took
pl ace.

Cauti on: The Above investigation was created, by considering that
the Rel eative Magnetic Perneability is 25000 for Torus Shield and
Is constant vs Current, Tenperature and other factors. W know t hat
I n practice this cannot be happened, because the Perneability
changes vs Current, Tenperature and to sone other Factors.

So in the next Docunents, we will try to approach the problem
nmore practical, that nmeans considering that the Perneability
changes vs sone factors, which this will help to see the natural
condi tions of the experinment and the truth about it.

Si ncerely

John Xydous

El ectroni ¢ Engi neer

r eece



